
��

%$%�9 .(6,038/$1�'$1�6$5$1

����.HVLPSXODQ

�� %LRGLVWULEXVL�UDGLRIDUPDND���P7F�+<1,&�)RODWH XQWXN�SDVLHQ�NDQNHU�SURVWDW�

EHUEHGD�EHGD� SDGD� VHWLDS� GDHUDK� \DQJ� GLWHOLWL� SDGD� SDJLDQ� GHSDQ� �DQWHULRU��

PDXSXQ�EDJLDQ�EHODNDQJ��SRVWHULRU���GLNDUHQDNDQ�NHDGDDQ�VHO�GDUL�PDVLQJ�±

PDVLQJ� GDHUDK� \DQJ� GLWHOLWL� $NXPXODVL� UDGLRIDUPDND� ��P7F�+<1,&� )RODWH

GDUL� ��� RUDQJ� SDVLHQ� NDQNHU� SURVWDW� SDGD� EDJLDQ� DQWHULRU OHELK� WLQJJL� GL�

EDQGLQJNDQ�SRVWHULRU�

�� .RUHODVL� DQWDUD� GRVLV� LQMHNVL� GHQJDQ� DNXPXODVL� UDGLRIDUPDND� ��P7F�+<1,&�

)RODWH SDGD WRWDO�ERGL EDJLDQ GHSDQ��DQWHULRU��GDQ�EDJLDQ�EHODNDQJ��SRVWHULRU��

VDQJDW�UHQGDK GDQ�WLGDN�VLJQLILNDQ�

����6DUDQ

6DUDQ�GLWXMXNDQ�XQWXN�SHQHOLWLDQ�VHODQMXWQ\D�

�� 0HODNXNDQ�SHQHOLWLDQ�GHQJDQ MXPODK�VDPSHO�EHUYDULDVL�ODN�ODNL�XQWXN�EHUEDJDL�

NDVXV GHQJDQ�EHUEDJDL� YDULDQ�XVLD�

�� 0HODNXNDQ�WHNQLN 52,�\DQJ�OHELK�EHUYDULDVL�GDULSDGD�SHQHOLWLDQ�VHEHOXPQ\D�

�� 0HODNXNDQ� SHQHOLWLDQ GHQJDQ PHQJJXQDNDQ EHUEDJDL ORNDVL� RUJDQ� DJDU�

PHQGDSDWNDQ�KDVLO�\DQJ�OHELK�EDLN�


